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%?a%onsider the following statement "ab is diviible by 4 whenever both a and b are even "

Questions# 1
write this statement in the form " if p then q"
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Quesﬁon #2 (20%): Which of the following statements is true and which is false?Justify your answer
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- Question # 3 (18%):Prove the foliowing
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Question # 4 (10%):Let A={{2},5} .B={5,6,2} , C={5,2,7},find
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Question # 6 (18%) prove that for each positive naturalm number n 2 4, 2<nl
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Questio#1(30%) Prove or disprove each of the followingStatements
a)lf A#@ and AxB=AxC then B=C True
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d)If f is a function then £ is a fanction
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Question #2(20%) a)Prove thalif A,B.C be sets, and let R € BXC,S c AXB be relations
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- Question #3(20%) Let A, B, C be nonempty set and - OQ (-9
4
letf:A — B, g:B — C be functions . g ~g
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Question #4(20%)

Let X=R xR, For each real number 5 let D, ={(x, y)€ X: y=x+b}
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b)Define a relation R on X by (s,f)R{u,v) if and only if there is a real number b such that
(s,tand (u,v) both belongsioD,, forsomebe R

Is R Reflexive ? Symmetric? Transitive? Explane your answer
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Question #5(10%) a) Let f(x)~ 1 , 8(x)=J4—x .Find the domainoff,g ,fog

Vx-1

s Rk L

> |

dam&(‘n v-f >0 = %I

?aﬂﬁje_, (G o)

% ﬁ(’f\”’: \j L %@Q
driain A >o = XS “
thgﬁ ED e ) \ 9

s Foy - Qfgcwijt{?(.glhg):fmﬁi____““_'

C{emﬁﬁﬂ. ‘JL*‘—VQ -1 >0 =) \5 4U DL = Sown /—4/55 <3
fﬁﬂag (Q‘%} /

ga

b)Use the graph of the functions f, and g
to indicate on the graph
the value of (fog) (x) and {geH{X)







